
S
M

IL
E

SM
ILE

B
- 

2
5
0
 c

m
H

- 
2
1
6
 c

m
T

- 
  
6
2
 c

m

9

3
,0

h

1
2

3

6

2
1
1
 K

G

5

6
6 6

9 9 9

8

1
2

1
2

H

B

T



In
fo

@
p
m

-m
a
z
u
ry

.p
l

D
a

ta
 :

S
e

ri
a

:

Ø
8

K
e
e
p
 f
o
r 

tw
o
 y

e
a
rs

P
M

 M
az

ur
y

D
w

or
co

w
a 

3
10

-4
13

 O
ls

zt
yn

S
p.

zo
.o

.



%



INOVA 8X--44 25

5

5

66
66

66

69

69

69

88

2

7

1/15

1212 1212

13

1

17
16

J22

J22

J20

10
18

11
11

3a 4a

5

15 15

J21

J21

14
1515

93,0h

12

3

6
SMILE

SMILE

16L 16 16R 01 01

5L 5R

J22

A B



x14f20mm

C142

x1
J22

x2

x1

J21

J20

L=570 mm

L=1276 mm

L=2058 mm

2/15

x4

E104

4

x3
L4

100 20 30 40 50 60 mm

3,0x13
x6

S3

x6
F7

9

L1

x4

10

P13

x2

x4

J11

3,5x13 mm

L=256 x2
U10

P13

x163,5x13 mm

7x50 x4
K1

f 8x28 x30
B1

x31

+

x31

T1T1T1T1

M1

x14
P16

x14
M6

4,2x12

2

3

M4x20 x10
A1

P13

x103,5x13 mm

x10

G10

7

E5

x4

8

E5

x2

E103

x2

x4

1

6,3x11 x8
E1

6,3x11 x4
E1 M4x40 x4

A5

E49

x1
G46

S 2,5

x4

E52

x2

E53

x16
E3

6,3x13

5

x8
E3

6,3x13

6

BW1

4x16 x8

BW1

4x16 x4

x22f20mm

C14

8X 44 25DS

x14f20mm

C141

x36f20mm

C14

8X 44 25RU

8X 44 25LG

INOVA 8X--44 25

x28
W8

x22f20mm

C14

x28
W19

x28
W8 Or

Nebo
Alebo

Lub!

6x9,5 x28
E55

W19

E55



1

+

T1

x201

B1

+

+

+

+

+

+

M1

4a

+

+

+

+

+

3a

B1

f 8x28 x12
B1

x10

+

x10

T1T1T1T1

M1

T1T1

2
+

+

+

+

+

01

3a

+

+

+

+

+

01

4a

C14

+

M1

+

M1

3/15

x10f20mm

C142

8X 44 25DS

x10f20mm

C141

x10f20mm

C14

8X 44 25RU 8X 44 25LG

01
4a

01
3a

INOVA 8X--44 25

C14

C141

C142



2 G10

G10

G10

G10

x2
S3

x2
F7

x8
T1T1T1T1

4/15

3,0x13

T1

T1

3a

x10
G10

3

T1

T1S3

F7

S3

F7

4a

G10

T1T1

+

+

+

+

+

INOVA 8X--44 25

W8
x12

W8

W8

W8

W8

W8

W8
W8

x12
W8

A !



x4
S3

x4
F7

f 8x28 x8
B1

+

x8
M1

5/15

3,0x13

4

+

5

S3

F7

+

+

+

B1

B1

M1

+

+

+

M1

S3

F7

S3

F7

+

+

+

B1

B1

M1

+

+

+

M1

S3

F7

INOVA 8X--44 25

x16
W8W8

W8

W8

W8

5L

W8

W8

5 5R

5 5R

W8

W8

5 5L



1
10

10

L1

10

1

1

12

3

6

9 0,5h

5
L1

x4

x4
T1T1

f 8x28 x6
B1

6/15

+

x4
M1

B1

B1

7P13

x103,5x13 mm

B1

B1

+

M1

+

M1

T1T1

T1T1

+

1

10

1

18

2

18

P13

INOVA 8X--44 25



B1

B1

M1

A1

6
16m

m

5 13

E49

E49

E49
A1

1

T1

T1

2

13

6

7/15

M4x20 x10
A1

x4
T1T1

f 8x28 x4
B1

+

x4
M1

x4

E49

A1

A1

A1

A1

A1

A1
+

M1

A1

16m
m

10 E49

139

E49

E49

4
105m

m

E49 E49

105m
m

8

137

E49

+

133

E49

E49 E49!

G46 G46

2

x1
G46

S 2,5
E49

E53

13

105mm4a,8a

E49

E49E49

13

E52

13

16mm

6a,9a

E49

13

E49!
G46

G46

G46

G46

G46

INOVA 8X--44 25



2

7

1

4a

7

2

7

5L 5R

1

11 12 12

x8
M6

M6

7x50 x3
K1

K1

K1

K1

K1

K1 K1

4,2x12

P16

P16

8/15

+

+

+

x1
J22

L=2058 mm

8

M6

K1K1

K1

7x50 x1
P16

M6

x4

x4

+

+

+

4,2x12

P16

K1K1

J22

11

x8

3a

INOVA 8X--44 25

K1K17

J22
12

12

A !



f20mm

C142

x22

C14

f20mm

x4

9

M6

P16

M6

x2

x2

9/15

4,2x12

P16

10

6

6

J20 J21

J21

6

x2

x1

J21

J20

L=570 mm

L=1276 mm

8

6

6

6

C14

+

C14

M1

x22f20mm

C14

8X 44 25DS

x4f20mm

C141

x26f20mm

C14

8X 44 25RU 8X 44 25LG

3a 4a

7

3a

4a

7

8X 44 25DS

INOVA 8X--44 25

6

8X 44 25LG

K1

C142

C142
C141

C141

K1
C14



10/15

15

15

17

11

P13

P13

PACZKA:
COLLI:

BESTEHEND AUS COLLI1
SK£ADA SIÊ  z PACZKI1

Front: 1/1Korpus:Aussen Haveleiche Cognac Nb., innen Matera
Haveleiche Cognac MDF, Metallgestell graphit

m
3

kg

MODELL: MANHATTAN

40 23 VV 21
TYPE 21

66

0,575

Modell-Nr

Nr Modelu

DATUM:
SERIE NR:

DATA:
NR SERII:

GEW.:

VOL.:

KUBA.:

MASA.:

Werk:MM42

Zak³ad:MM42

4
2

5
1

4
4

9
1

1
1

8
2

6

E5

!
=0

=0

E5

x2

P13

x163,5x13 mm

6,3x11 x4
E1

!
E53

!

E1

x2

E53

x8
E3

6,3x13

E3

E3

E53

INOVA 8X--44 25



x4

E52

x16
E3

6,3x13

11/15

12

1616L

E5E5

!

A5A5

U10

16 16R

f5

front

!

f5

front

A5A5

U10

L=256 x2

M4x40 x4
A5

U10E5

x4

6,3x11 x8
E1

!
E52

E1E1

E3

E3

E52

E3

E3

E52

INOVA 8X--44 25



12/15

5

6
6

6

9

9

9

13

16L 16R

2

1

2 1

E104

E5

E5

E104
CLIK!

10

x4

E104

16R

16L

16R

16L

BW1

4x16 x8

13

2

7
1

2

1
E52

16R

16L16R

16L

3 4

16L 16LBW1

E52 E52

16R 16R

INOVA 8X--44 25



13/15

5

6
6

6

9

9

9

17

14

16L 16R

2 4

17

1

E104

E103

E103

E5 E5

x2

1

E5

E103

17

CLIK!

10

16R

16L

BW1

4x16 x4

17

5 6

17 17

E53 E53

BW1

13

3
7E53

2

16R

16L

1

2

17

INOVA 8X--44 25



5

6
6

6

9

9

9

17

14/15

15 16

+

+

+

+

+

M1 M1 M1M1 M1

+

14

T1T1

T1T1

T1T1

T1T1

T1T114

T1T1

x5
T1T1T1T1

+

x5
M1

16L 16R

+

M1

+

+

INOVA 8X--44 25



3

2
P13

J11J111

S1>S2 S1<S2

x3
L4

L4

L4L4

17

15/15

P13

x2

x4

J11

3,5x13 mm

5

6
6

6

9

9

9

17

S2

S1

!

16L 16R

INOVA 8X--44 25

%






